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1. (b)

2. (c) (79, 89, 101)

22  24  26
th th th (Alternate Prime no)

(31, 41, 47)

11  13  15
th th th (Alternate Prime no)

Similarly,

(29, 37, 43)

10  12  14th th th (Alternate Prime no)

3. (d) G

M

Y

O

–2 E

K

W

Q

C

I

U

S+2 +2

–2

–2

–2

–2

–2

(Odd.)

4. (c)
C

A

B D

 C is the Paternal grand
mother of B & D.

5. (d)

6. (c) A  B  R  U  P  T

B  A  Q  V  O  S

+1 –1 –1 +1 –1 –1

Alphabetical order : ABOQSV
7. (c) abbcd/abbcd/abbcd/abbcd

8. (b) P R N T S

Q R L H Q O

–1 –1 –2 –2 –2

Similarly,

S T I C T

R A G Q S R

–1 –1 –2 –2 –2

9. (b)

10. (a) E N

F O

+1 +1 +2

T E R

T G T

Same +2

D I

E J

+1 +1 +2

C E Y

C G A

Same +2

Similarly,
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C H

D I

+1 +1 +2

I L D

I N F

Same +2

11. (a) 39 – 3 ÷ 13 + 16 × 8 = 17
Using option (a)
39 × 3 ÷ 13 + 16 – 8 = 17

 9 + 16 – 8 = 17
 25 – 8 = 17
 17 = 17 (L.H.S = R.H.S)

12. (b) R  O  P

N  M  P

–2 –2 –2

Similarly,

M  U  G

E  S  K

–2 –2 –2

13. (b)
14. (c) 5 : 7

 5 × 5 = 25
 25 – 18 = 7

22 : 466
 22 × 22 = 484
 484 – 18 = 466
Similarly,

x : 271
x2 = 271 + 18
x2 = 289
x = 17

15. (d)

16. (c) 168 336
×2 

512 1024
×2 

358 726
×2.027

(Odd.)

624 1248
×2

17. (c)
Plumbers

Men

Electricians Cook

18. (c)
19. (c) (393, 342, 564)

 564 – 393 = 342 ÷ 2
 171 = 171 (L.H.S = R.H.S)

(287, 82, 328)
 328 – 287 = 82 ÷ 2
 41 = 41 (L.H.S = R.H.S)
Similarly,

(237, 294, 384)
384 – 237 = 294 ÷ 2
147 = 147 (L.H.S = R.H.S)

20. (a) C  E  G  I  K  M  O  Q

+2 +2 +2 +2 +2 +2 +2

21. (d)192 ÷ 12 × 6 + 16 – 18 = 66
Using option (d)

 192 ÷ 16 × 6 + 12 – 18 = 66
 12 × 6 + 12 – 18 = 66
 72 + 12 – 18 = 66
 66 = 66 (L.H.S = R.H.S)

22. (c) A  R  B

Z  P  Y

–2
, P   I   N

L  G   N

–2

Similarly,

F   X   Z

X   V   D

–2

23. (d)58 – 17 ÷ 6 + 322 × 23
After interchanging the sign

 58 + 17 × 6 – 322 ÷ 23
 58 + 102 – 14
 160 – 14
 146

24. (b)

25. (c) 40, 80, 200, 600, 2100, 8400

×2 2.5 ×3 ×3.5 ×4

B-GENERAL AWARENESS
26. (c) The Anguttara Nikaya, part

of the Sutta Pitaka is the
only ancient Buddhist text
that specifically lists the
names of the 16
Mahajanapadas that existed
during the 6th century BCE.
These Mahajanapadas
formed the political
landscape at the time of the
Buddha./vaxqÙkj fudk;] tks lqÙk
fiVd dk fgLlk gS] ,dek=k çkphu
ckS¼ xzaFk gS tks fo'ks"k :i ls 6oha
'krkCnh bZlk iwoZ esa ekStwn 16 egktuinksa
ds ukeksa dks lwphc¼ djrk gSA ;s
egktuin cq¼ ds le; ds jktuhfrd
ifjǹ'; dk fuekZ.k djrs FksA

27. (d) Chennai experiences heavy
rainfall during the north-
east monsoon, which peaks
in December, leading to
flooding. Additionally, poor
urban planning,
inadequate drainage
systems and
encroachments on
wetlands, exacerbates the
flooding.
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psUubZ esa mÙkj&iwohZ ekulwu ds nkSjku]
tks fnlacj esa pje ij gksrk gS] Hkkjh
ckfj'k gksrh gS] ftlls ck<+ vkrh gSA
blds vfrfjDr] •jkc 'kgjh fu;kstu]
vi;kZIr ty fudklh ç.kkyh vkSj
vkæZHkwfe;ksa ij vfrØe.k ck<+ dks vkSj
c<+krs gSaA

28. (d) The World Happiness Report
is published by the United
Nations Sustainable
Development Solutions
Network. It ranks countries
based on factors such as:
GDP per capita, social
support, Life expectancy,
Freedom to make life
choices, Generosity &
Perceptions of corruption./

fo'o •q'kgkyh fjiksVZ la;qDr jk"Vª lrr
fodkl lekèkku usVodZ }kjk çdkf'kr
dh tkrh gSA ;g ns'kksa dks fuEufyf•r
dkjdksa ds vk/kj ij jSad djrh gS%
çfr O;fDr thMhih] lkekftd leFkZu]
thou çR;k'kk] thou fodYi pquus
dh Lora=krk] mnkjrk vkSj Hkz"Vkpkj dh
/kj.kkA

29. (a) Article 240 of the Indian
Constitution grants the
President authority to make
regulations for the
administration of Union
Territories, including
Ladakh, to ensure peace,
progress, and good

governance./Hkkjrh; lafo/ku dk
vuqPNsn 240 jk"Vªifr dks yík• lfgr
dsaæ 'kkflr çns'kksa ds ç'kklu ds fy,
fu;e cukus dk vf/dkj nsrk gS] rkfd
'kkafr] çxfr vkSj lq'kklu lqfuf'pr
gksA

30. (d) Simlipal Tiger Reserve in
Odisha is the only wild
habitat in the world that
hosts melanistic (black) or
pseudo-melanistic Bengal
tigers. Conservation efforts
and public interest have
surged after confirmation of
these rare tigers, leading to
plans for a dedicated
melanistic tiger safari near

the park./vksfM'kk esa fleyhiky
Vkbxj fjtoZ fo'o dk ,dek=k taxyh
vkokl gS tks esykfufLVd (dkys) ;k
NÁ&esykfufLVd caxky VkbxlZ dks

vkJ; nsrk gSA bu nqyZHk VkbxlZ dh
iqf"V ds ckn laj{k.k ç;klksa vkSj
turk dh #fp esa o`f¼ gqbZ gS]
ftlds ifj.kkeLo:i ikdZ ds ikl
,d lefiZr esykfufLVd Vkbxj
liQkjh dh ;kstuk cukbZ xbZ gSA

31. (c) Corona virus is a zoonotic
disease, meaning it can be
transmitted from animals
(e.g., bats) to humans./

dksjksuk ok;jl ,d i'kqtU; jksx gS]
ftldk vFkZ gS fd ;g tkuojksa
(tSls] pexknM+) ls euq";ksa esa lapfjr
gks ldrk gSA

32. (a) Dara Shikoh, a Mughal
prince and scholar,
translated the
Upanishads into Persian
as Sirr-e-Akbar (The Great
Secret) in the 17th century
to foster interfaith
dialogue between

Hinduism and Islam./nkjk
f'kdksg] ,d eqxy jktdqekj vkSj
fo}ku] us 17oha 'krkCnh esa mifu"knksa
dk iQkjlh esa vuqokn fd;k] ftls
fljZ&,&vdcj (egku jgL;) dgk
x;k] rkfd fganw /eZ vkSj bLyke ds
chp varj/kfeZd laokn dks c<+kok
fn;k tk ldsA

33. (b) A neutralization reaction
occurs when an acid
reacts with a base to
produce salt and water
(e.g., HCl + NaOH  NaCl

+ H
2
O)./,d mnklhuhdj.k

vfHkfØ;k rc gksrh gS tc ,d
vEy ,d {kkj ds lkFk vfHkfØ;k
djds ued vkSj ikuh mRiUu djrk
gS (mnkgj.k ds fy,] HCl +

NaOH  NaCl + H
2
O)A

34. (c) F = ma belongs to
Newton’s laws of motion
(2nd law) whereas rest of
them are equations of

motion./F = ma U;wVu ds xfr
fu;eksa (nwljk fu;e) ls lacaf/r
gS] tcfd ckdh xfr ds lehdj.k
gSaA

35. (c) Black soil, also known as
regur soil, is ideal for
cotton cultivation due to
its high moisture-
retention capacity,

fertility, and clayey texture.
It is prevalent in regions
like Gujarat and

Maharashtra./dkyh feêðh] ftls
jsxqj feêðh Hkh dgk tkrk gS] viuh
mPp ueh&/kj.k {kerk] moZjrk vkSj
fpduh cukoV ds dkj.k dikl dh
•srh ds fy, vkn'kZ gSA ;g xqtjkr
vkSj egkjk"Vª tSls {ks=kksa esa çpfyr gSA

36. (a) Part III  of the Indian
Constitution (Fundamental
Rights) includes Article 25,
which ensures the right to
freely profess, practice, and
propagate religion, subject
to public order, morality,

and health./Hkkjrh; lafo/ku dk
Hkkx III (ewy vf/dkj) vuqPNsn
25 dks 'kkfey djrk gS] tks lkoZtfud
O;oLFkk] uSfrdrk vkSj LokLF; ds
v/hu] /eZ dks Lora=k :i ls ekuus]
vH;kl djus vkSj çpkj djus dk
vf/dkj lqfuf'pr djrk gSA

37. (a) Lord Irwin was the
Governor-General of India
from 1926 to 1931, during
which Bhagat Singh, along
with Rajguru and Sukhdev,
was executed on March 23,
1931, for revolutionary

activities./ykWMZ bjfou 1926 ls
1931 rd Hkkjr ds xouZj&tujy
Fks] ftuds dk;Zdky ds nkSjku Hkxr
flag] jktxq# vkSj lq•nso dks 23
ekpZ] 1931 dks Økafrdkjh xfrfof/
;ksa ds fy, iQkalh nh xbZ FkhA

38. (d) Sharda Sinha, a renowned
Maithili and Bhojpuri folk
singer known for her
Chhath geet and other
traditional songs, was
posthumously awarded the
Padma Vibhushan in 2025
for her contributions to

Indian folk music./'kkjnk
flUgk] ,d çfl¼ eSfFkyh vkSj Hkkstiqjh
yksd xkf;dk] tks vius NB xhrksa
vkSj vU; ikjaifjd xhrksa ds fy,
tkuh tkrh Fkha] dks 2025 esa Hkkjrh;
yksd laxhr esa muds ;ksxnku ds fy,
ej.kksijkar iÁ foHkw"k.k ls lEekfur
fd;k x;kA
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39. (b) Rashmirathi, a celebrated
Hindi epic poem narrating
the life of Karna, was
authored by Ramdhari
Singh Dinkar, known for
his patriotic and powerful

poetry./jf'ejFkh] d.kZ ds thou
dks fpf=kr djus okyh ,d çfl¼
fganh egkdkO; dfork] jke/kjh flag
fnudj }kjk fy•h xbZ Fkh] tks viuh
ns'kHkfDr vkSj 'kfDr'kkyh dfork ds
fy, tkus tkrs gSaA

40. (b) The women’s regiment of
the Azad Hind Fauj was
named the Rani of Jhansi
Regiment in honour of the
warrior queen Laxmibai. It
symbolized women’s
bravery and contribution to
the independence

struggle./vktkn fgan iQkSt dh
efgyk jsftesaV dk uke ;ks¼k jkuh
y{ehckbZ ds lEeku esa jkuh >kalh
jsftesaV j•k x;k FkkA ;g efgykvksa
dh cgknqjh vkSj Lora=krk laxzke esa
;ksxnku dk çrhd FkkA

41. (a) Shah Shuja Durrani, an
exiled Afghan ruler, gifted
the Kohinoor diamond to
Maharaja Ranjit Singh in
1813 in gratitude for his
military support. Ahmad
Shah Abdali and Nadir
Shah looted the diamond
earlier, while Lord
Dalhousie annexed it for
the British after Ranjit

Singh’s death./'kkg 'kqtk nqjkZuh]
,d fuokZflr viQxku 'kkld] us 1813
esa egkjktk j.kthr flag dks mudh
lSU; lgk;rk ds fy, vkHkkj esa dksfguwj
ghjk migkj esa fn;kA vgen 'kkg
vCnkyh vkSj ukfnj 'kkg us igys ghjs
dks ywVk Fkk] tcfd ykWMZ MygkSth us
j.kthr flag dh e`R;q ds ckn bls
fczfV'kksa ds fy, gM+i fy;kA

42. (c) In Maharashtra, the
Western Ghats, a UNESCO
World Heritage Site, are
locally known as the
Sahyadri Mountains./

egkjk"Vª esa] if'peh ?kkV] tks ,d
;wusLdks fo'o /jksgj LFky gS] LFkkuh;
:i ls lákæh ioZr ds :i esa tkuk
tkrk gSA

43. (b) When the RBI lowers the
repo rate, banks can
borrow money at a lower
cost, encouraging them to
lend more to businesses
and consumers. This
increases the money
supply in the economy. A
higher repo rate would

have the opposite effect./tc
RBI jsiks nj dks de djrk gS] rks
cSad de ykxr ij /u m/kj ys
ldrs gSa] ftlls os O;olk;ksa vkSj
miHkksDrkvksa dks vf/d m/kj nsus ds
fy, çk sRlkfgr gk sr s gS a A blls
vFkZO;oLFkk esa /u dh vkiwfrZ c<+rh
gSA mPp jsiks nj dk foijhr çHkko
gksxkA

44. (b) The Cash Reserve Ratio
(CRR) is the percentage of
a bank’s total deposits that
must be maintained as
cash reserves with the
Reserve Bank of India. This
regulates liquidity and
ensures banks’ solvency./

udn vkj{kh vuqikr (CRR) cSad
ds dqy tek dk og çfr'kr gS tks
Hkkjrh; fjtoZ cSad ds ikl udn
HkaMkj ds :i esa j•k tkrk gaSA ;g
rjyrk dks fu;af=kr djrk gS vkSj
cSadksa dh foÙkh; etcqrh lqfuf'pr
djrk gSA

45. (a) The “Plan Holiday” (1966–
1969) refers to the
suspension of India’s Five-
Year Plans due to economic
crises, including droughts,
wars, and currency
devaluation. During this
period, annual plans were
implemented instead./

¶;kstuk vodk'k¸ (1966 &1969)
Hkkjr dh iapo"khZ; ;kstukvks a ds
fuyacu dks lanfHkZr djrk gS] tks
vkfFkZd ladVksa] lw•s] ;q¼ksa vkSj eqæk
voewY;u ds dkj.k gqvk FkkA bl
vof/ ds nkSjku] okf"kZd ;kstuk,¡ ykxw
dh xbZ FkhaA

46. (c) Operation Sindhu,
launched in June 2025,
was an Indian government
initiative to evacuate
Indian nationals from Iran
due to escalating

geopolitical tensions in the

region./vkWijs'ku fla/q] twu 2025
esa 'kq: fd;k x;k] ,d Hkkjrh;
ljdkjh igy Fkh] ftldk mís'; {ks=k
esa c<+rs Hkw&jktuhfrd rukoksa ds dkj.k
bZjku ls Hkkjrh; ukxfjdksa dks fudkyuk
FkkA

47. (a) International Yoga Day is
celebrated on June 21 each
year, following a UN
resolution in 2014 proposed
by India. The date coincides
with the summer solstice,
symbolizing balance and

harmony./varjjk"Vªh; ;ksx fnol
çR;sd o"kZ 21 twu dks euk;k tkrk gS]
tks 2014 esa Hkkjr }kjk çLrkfor la;qDr
jk"Vª ds çLrko ds ckn 'kq: gqvkA ;g
frfFk xzh"e laØkafr ds lkFk esy •krh
gS] tks larqyu vkSj lkeatL; dk çrhd
gSA

48. (b) The Directorate General of
Civil Aviation (DGCA),
India’s aviation regulatory
body, is scheduled to
conduct an audit of Air
India in late June 2025 to
assess compliance with
safety, operational, and

regulatory standards./ukxj
foekuu egkfuns'kky; (DGCA)]
Hkkjr dk foekuu fu;ked fudk;]
twu 2025 ds var esa ,;j bafM;k dk
vkWfMV djus ds fy, fu/kZfjr gS]
rkfd lqj{kk] lapkyu vkSj fu;ked
ekudksa ds vuqikyu dk vkdyu fd;k
tk ldsA

49. (b) Operation Abhyaas was a
nationwide civil-defence
mock drill conducted on
May 7, 2025, to enhance
preparedness for disasters
and emergencies. It
involved multiple agencies
and aimed to train
communities and

authorities./vkWijs'ku vH;kl 7
ebZ] 2025 dks vk;ksftr ,d jk"VªO;kih
ukxfjd lqj{kk ekWd fMªy Fkh] ftldk
mís'; vkinkvksa vkSj vkikr fLFkfr;ksa
ds fy, rS;kfj;ksa dks c<+kuk FkkA blesa
dbZ ,tsafl;k¡ 'kkfey Fkha vkSj bldk
y{; leqnk;ksa vkSj vf/dkfj;ksa dks
çf'kf{kr djuk FkkA
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50. (a) India signed a free trade
agreement with the
European Free Trade
Association (EFTA),
comprising Iceland,
Liechtenstein, Norway, and
Switzerland. This
agreement aims to boost

trade and investment./Hkkjr
us ;wjksih; eqDr O;kikj la?k (EFTA)

ds lkFk ,d eqDr O;kikj le>kSrk
fd;k] ftlesa vkblySaM] fydVsaLVhu]
ukWoZs vkSj fLoV~tjySaM 'kkfey gSaA ;g
le>kSrk O;kikj vkSj fuos'k dks c<+kok
nsus dk y{; j•rk gSA

gSAgS C - QUANTITATIVE APTITUDE
51. (b) ATQ,

Total cost = (60 × 5x) + (80
× 8x) + (120 × 7x)
= 300x + 640x + 840x
= `1780x

 Final price = 
 1780x  × 125

100 × 20x

= `111.25

52. (d)

P           
Q

R             
S

11.9cm

30.6cm

15.3cm

T

By secant segment theorem,
 TP × TQ = TR × TS
 30.6 × TQ = 27.2 × 15.3
 TQ = 13.6 cm
 Length of PQ = TP – TQ

= 30.6 – 13.6 = 17 cm
53. (a) Let marks in the 11th paper

be 'x'
ATQ,
(11 × 52) + (11 × 45) – x =
21 × 50

 x = 572 + 495 – 1050
 x = 17

54. (b) Least number of passed
students = 42 + 10 = 52 (in
class 6)

55. (a) ATQ,
CP = `100
MP = `140

and SP = 
147

140
200

 
  

= `102.9.

 % profit = 
102.9 –100

100

 
   ×100

= 2.9%

56. (d) ATQ,
Area 3rd square

=

2 2
52 20

–
4 4

   
      

= 132 – 52 = 144 cm2

 Perimeter of 3rd square

= 4 144
= 4 × 12 = 48 cm

57. (c) cos (36º – A) sin (90º – 36º –
A) + cos (54º – A) sin (90º –
54º – A)

 cos (36º – A) sin (54º – A) +
cos (54º – A) sin (36º – A)

 sin (36º – A + 54º – A)
 ( sin (A + B) = sin A cos B +

cos A sinB
 sin (90º – 2A) = cos 2A

58. (b) x2 – 8 x + 1 = 0

 x + 
1

x
 = 8

From formula,

 x2 + 2

1

x
 = 8 – 2 = 6

and x – 
1

x
=  

2

8 – 4

= 8 – 4  = 2

 x4 – 4

1

x
= 

2

2

1 1 1
x– x+ x

x x x

     
          

= 2 × 8  × 6

= 24 2

59. (d) Let total votes = x
ATQ,
Casted vote = 0.75 x
Valid casted vote = 0.98 ×
0.75x

 (0.98 × 0.75x) × 
75

100
 = 9261

 x = 
1029 16 100

98

 
 = 16800

60. (b) ATQ,
Let , printed price = 100

SP
1
 = 100 × 

60

100
 = 60

 Gain% = 
 100 – 60

60
× 100

= 
40

60
× 100 = 

2
66

3
%

61. (a) [33 ÷ 9]2 +  155 196



2
27

9

 
   + 155 14

 32 + 169 = 9 + 13 = 22

62. (a) Divisiblity of 11 :-
 (5 + p + 9 + 7) – (4 + 3 + 8) 

multiple of 11
 (21 + p) – (15)  multiple of

11
p + 6  multiple of 11.

 p = 5

63. (c)    

 

2 2

2

tan θ + 1 + cot θ + 1

2

1– cos θ


 2 2 2sec θ + cosec θ  × sin θ

2



2tan θ + 1

2
= 

2sec

2



64. (d) Cost price of all 5 goods =
173 + 219 + 350 + 481 +
227 = 1450 Rs.
Total selling price of all 5
goods for shopkeeper X.
= 180 + 220 + 360 + 490 +
250 = 1500 Rs.
For shopkeeper Y.
= 175 + 225 + 357 + 500 +
235 = 1492 Rs.

Profit% of X = 
 1500 –1450

1450
×

100 = 3.45%

Profit% of Y= 
 1492 –1450

1450
 ×

100 = 2.9%
 Shopkeeper X has more

profit% which is 3.45%.

65. (b) Required ratio = 
45

10 5
 =

45 3

15 1


66. (b)

6cm 8cm

20cm

A

B CD

Accoding to angle bisector
theorem.

AB

BD
 = 

AC

DC
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 AB = 
20

6
8

  = 15 cm

67. (b) ATQ,
x2 + 2x + 1 + 4y2 = 0
(x + 1)2 + (2y)2 = 0

 (x + 1)2 > 0 and (2y)2 > 0
 x = –1 and y = 0
 x39 + y36 = (–1)39 + 036 = – 1

68. (c) We have,  cosx – tanx = 
3

2

cotx – tanx = 2 – 
1

2
= 

5

2

(On compairing, cotx = 2 &

tanx = 
1

2
 )

69. (b) Ratio of speed = 18 : 27
  = 2   :  3

Ratio of time = 
3 : 2

1 16 min

 Distance = 
 18× 3 16

60


 =

14.4 km
70. (c) ATQ,

Volume of cuboid = Volume
of cone

 Height × 45 × 22.5 = 45 ×
45 × 45

 Height = 
45 45

22.5


 = 90 cm.

71. (c) X ––– 12
Y ––– 15
Z ––– 20

60 (Total work)

5

3
4

 Efficiency for 2 days = (5 +
4) + (5 + 3)
 = 9 + 8 = 17

 Required time = (3 × 2) + 
9

9
= 6 + 1 = 7 hours.

72. (c) ATQ,

12260= P 

2
R

1 + 
100

 
  

...(1)

& 12873 = P 
3

R
1 + 

100

 
  

... (2)

 
 
2

1 , we get

12873

12260
 = 1+ 

R

100


R

100
 = 1.05 – 1

 R = 5 %
73. (a) Total sale  = 750 + 480 +

900 + 920 + 1100 = 4150
Total delivery charges = 50
+ 75 + 51 + 64 + 92
= 332

 Required% = 
332

4150
 × 100

= 8%

74. (b)

ABQ  CBQ (by SSS rule)
So, AQB = CQB = 90º
Now,
We can say that BQ is the
diameter.

 BQ = 2 × 6 = 12 cm

and QC = 
32

2
 = 16 cm

 In BQC,

BC = 2 212 16  = 400

= 20cm
By secant segment theorem.

 AP × AB = AQ2

 AP = 

216

20
 = 12.8 cm.

Now, AP + BC = 12.8 + 20 =
32.8 cm

75. (b) ATQ,

Perimeter =  
24 20 15

x x x
   =

38


5x + 6x + 8x

120
 = 38

 19x = 38 × 120
 x = 240

 Length of longest side = 
x

15

= 
240

15
 = 16 cm

D-ENGLISH COMPREHENSION
76. (c) Life is a bowl of cherries

(thou cgqr lq•n gS) – means
life is wonderful, pleasant,
and full of enjoyment.

Face the music –(ifj.kkeksa
dk lkeuk djuk) to accept the
unpleasant consequences.

Change one’s tune – (joS;k
cnyuk) to change one’s
opinion or attitude.

Up in the air – (vfuf'pr)
undecided or uncertain.

77. (c) Discern (irk yxkuk)  means
to recognize or detect
something clearly, similar

to Perceive (vuqHko djuk),
which means to become
aware of something
through the senses..

Fabricate (x<+uk) means to
invent or make up.

78. (d) Contains (j•k gqvk gS) is
correct verb form used with
singular subjects like
“Neither.”

79. (c) “one of my favourite book”
should be “one of my
favourite books”
structure :  “one of + the +
plural noun” is used to
indicate that you are
talking about one item from
a group of many similar
items.

80. (c) Languid (f'kfFky) means
lacking energy, slow, or
weak in movement or
expression, while

Animated (mRlkgh) means
full of life, spirit, or energy

Infantry (iSny lsuk) refers
to soldiers who fight on
foot.

Rehearsal (iwokZH;kl) means
a practice or trial
performance before the
final one.

81. (b) No substitution required
The sentence is in the
present tense, and the
subject “The small size”
(singular) agrees with
“makes” (present simple
verb), is correct.

82. (d) Active Voice Structure: I
(Subject) + could not use
(Modal + base verb) + his
laptop (Object) + as it was
password protected.
Passive Voice Structure:
His laptop (Object becomes
subject) + could not be used
(Modal + passive form) + by
me (Agent) + as it was
password protected.
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83. (b) Correct order is DABC.
D introduces the main topic:

Peace of mind is important.
A explains its benefits:

Linked with happiness,
contentment, etc.

B states the need: Everyone
needs peace of mind.

C supports the idea: Peace
provides these qualities.

84. (c) Whining (djkguk @ yxkrkj
f' kdk;r djuk)  means
complaining persistently
and in a peevish or self-
pitying way.

Grunting (xjkZuk) – a low
guttural sound, usually of
effort or annoyance.

Jesting (etkd djuk) –
speaking or acting in a
joking manner.

85. (a) Geology (HkwfoKku) – The
scientific study of the
structure, substances,
history, and processes of
the Earth.

Geography (Hkwxksy) – Study
of the Earth’s surface,
countries, and physical
features.

Meteorology (ekSle foKku)
– Study of the atmosphere,
especially weather and
forecasting.

Biology (thofoKku) – Study
of living organisms.

86. (a) Like nailing jelly to the

tree (vlaHko dk;Z djuk)
means attempting
something extremely
diff icult or nearly
impossible.

87. (c) The correct spelling is

Coveted (cgqr pkgk x;k)
which means highly
desired or sought after.

88. (d) Rue (iNrkuk) means to feel
sorrow or regret for
something done or lost,

while Relish (vkuan ysuk)
means to take great
pleasure or delight in
something.

Distress (d"V)  means
extreme anxiety or
suffering.

89. (c) Bring up (çLrko j•uk)
means to mention or
introduce a topic or idea for
discussion, which fits the
context of students sharing
ideas.

Get on (vkxs c<+uk) means
to continue or make
progress.

Put off (Vkyuk) means to
delay or postpone.

Bring about (ykuk) means
to cause something to
happen.

90. (c) I wish I had eraser to erase
all the mistakes in my life.
“Eraser” is a singular
countable noun. When
referring to a single,
unspecif ied eraser, it
should be preceded by an
indefinite article (“an”).

91. (c) underestimate the
significance
The word signification

(ladsr) is incorrect here, as
it means the act of
signifying or a specific
meaning, which doesn’t fit
the idea of importance. The
correct word is

Significance (egRo) means
the quality of being
important or meaningful.

92. (d) Passive Voice Structure:
It (dummy subject) + is
said (passive form of “say”)
+ that Einstein was a
genius (reported clause).
Active Voice Structure:
People (subject) + say
(simple present) + that
Einstein was a genius
(reported clause).

93. (c) “The people of this remote
island are deprived of
essential commodities
needed to survive.”
“The people of this remote
island” – sets the subject.
“are deprived of” – verb
phrase showing they lack
something.
“essential commodities
needed” – what they are
deprived of.
“to survive” – explains the
purpose or need.

94. (c) Entangle (my>kuk) means
to involve in a complicated
situation, similar to Trap

(iQ¡lkuk) which means to
put someone in a difficult
or inescapable situation.
Other options:

Intrude (gLr{ksi djuk)– to
enter without permission.

Engross (yhu djuk) – to
occupy attention
completely.

Enlarge (c<+kuk) – to make
bigger in size.

95. (b) The correct spelling is

Ephemeral({kf.kd)  which
means lasting for a very
short time.

96. (d)
97. (d)
98. (c)
99. (c)
100.(d)

ANSWER KEY

1. (b)

2. (c)

3. (d)

4. (c)

5. (d)

6. (c)

7. (c)

8. (b)

9. (b)

10. (a)

11. (a)

12. (b)

13. (b)

14. (c)

15. (d)

16. (c)

17. (c)

18. (c)

19. (c)

20. (a)

21. (d)

22. (c)

23. (d)

24. (b)

25. (c)

26. (c)

27. (d)

28. (d)

29. (a)

30. (d)

31. (c)

32. (a)

33. (b)

34. (c)

35. (c)

36. (a)

37. (a)

38. (d)

39. (b)

40. (b)

41. (a)

42. (c)

43. (b)

44. (b)

45. (a)

46. (c)

47. (a)

48. (b)

49. (b)

50. (a)

51. (b)

52. (d)

53. (a)

54. (b)

55. (a)

56. (d)

57. (c)

58. (b)

59. (d)

60. (b)

61. (a)

62. (a)

63. (c)

64. (d)

65. (b)

66. (b)

67. (b)

68. (c)

69. (b)

70. (c)

71. (c)

72. (c)

73. (a)

74. (b)

75. (b)

76. (c)

77. (c)

78. (d)

79. (c)

80. (c)

81. (b)

82. (d)

83. (b)

84. (c)

85. (a)

86. (a)

87. (c)

88. (d)

89. (c)

90. (c)

91. (c)

92. (d)

93. (c)

94. (c)

95. (b)

96. (d)

97. (d)

98. (c)

99. (c)

100.(d)


